
"C
op

yr
ig

ht
 p

ro
te

ct
io

n 
ac

co
rd

in
g 

to
 D

IN
 IS

O
 1

60
16

"
"S

ch
ut

zv
er

m
er

k 
na

ch
 D

IN
 IS

O
 1

60
16

 b
ea

ch
te

n"

A
ABB

109

3 4 5 611

A-A

1

2.2

2

2.187

B-B

13.813

ALL TOLERANCED DIMENSIONS ARE FOR INSTALLATION ONLY.
ALL OTHER DIMENSIONS ARE FOR REFERENCE ONLY.

251830_72
1:3.5

00A.00

19.07.2006

-- --

1

Drawn

Checked

Date / Datum Name

Item-No. / Teile-Nr. Rev. Sheet /
Blatt

of / von

Scale / Maßst.

Item name / Benennung

20 kg

Drawing No. / Zeichnungs-Nr.

F.A. Sening GmbH, Regentstr. 1, 25474 Ellerbek, Germany

Size / Format ISO-A4
DELTA2-HY-....

Method 1 Method 3

Weight / Gewicht

Larsenx made for / zugehörig zu
Tankwagenpumpe / Tank truck pump



"C
op

yr
ig

ht
 p

ro
te

ct
io

n 
ac

co
rd

in
g 

to
 D

IN
 IS

O
 1

60
16

"
"S

ch
ut

zv
er

m
er

k 
na

ch
 D

IN
 IS

O
 1

60
16

 b
ea

ch
te

n"

Pos./
Item

Teile-Nr./
Part-No.

Stück/
Quant. Benennung Description

13.8 6000083 1 O-Ring 42x3 NBR O-Ring 42x3 NBR

13 UDRV4 1 Überdruckventil, einstellbar Pressure-relief-valve, adjustable

13 ÜDRV3 1 Überdruckventil Pressure-relief-valve
12 250115 1 Wartungsschild Label

11 4100473 1 Verschlußschraube Drain plug

10 6300085 1 Dichtring Sealing ring

9 4100094 1 Verschlußschraube Drain plug

8 6300088 1 Dichtring B33x39x2 NBR Sealing ring B33x39x2 NBR

7 4100086 1 Verschlußschraube G1" Drain plug G1"

6 4200040 4 Sechskantmutter M8 Hexagon nut M8

5 4300040 4 Federring A8 Split ring A8

4 4300165 4 Scheibe 8,4 Washer 8,4
3 4100246 4 Sechkantmutter M8  Hexagon head screw M8x40

2.2 6200002 1 Gleitringdichtung Axial face seal

2.1 6000236 1 O-Ring 160x3 NBR O-Ring 160x3 NBR

2 250137-700 1 Hydr.Antriebseinheit 700l/min. Hydraulic gearbox 700l/min.

 250137-1000 1 Hydr.Antriebseinheit 1000l/min. Hydraulic gearbox 1000l/min.

 250137-1200 1 Hydr.Antriebseinheit 1200l/min. Hydraulic gearbox 1200l/min.

1 251813 1 Pumpengehäuse, komplett
für 800 + 1000l/min.

Pump housing, complete
for 800 + 1000l/min.

1 251812 1 Pumpengehäuse, komplett
für 1200l/min.

Pump housing, complete
for 1200l/min.

ALL TOLERANCED DIMENSIONS ARE FOR INSTALLATION ONLY.
ALL OTHER DIMENSIONS ARE FOR REFERENCE ONLY.

251830_72
1:5

00A.00

19.07.2006

-- --

2

Drawn

Checked

Date / Datum Name

Item-No. / Teile-Nr. Rev. Sheet /
Blatt

of / von

Scale / Maßst.

Item name / Benennung

20 kg

Drawing No. / Zeichnungs-Nr.

F.A. Sening GmbH, Regentstr. 1, 25474 Ellerbek, Germany

Size / Format ISO-A4
DELTA2-HY-....

Method 1 Method 3

Weight / Gewicht

Larsenx made for / zugehörig zu
Tankwagenpumpe / Tank truck pump


	Bl.1
	Zeichenansicht1
	Schnittansicht A-A
	Schnittansicht B-B

	Bl.2

